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1. Explain the appropriateness of the title of drama Svapnavāsavadattam by Bhāsa. [10] 

 

Or, 

 Discuss the character of Yougandharāyaṇa. 

 

2. Translate into Bengali or English any one of the following verses : [5] 

 

a) 

b) 

3. Explain with reference to the context any one of the following verses : [6] 

 

a) 

b) 

4. Answer any two of the following questions. [2×2=4] 

 

a) Why did Brahmacārin go to Lāvāṇka and why did he return?  

  

b) Who was Mahāsena? Why was he so called? 

  

c) What was the name and the speciality of Udayana’s lyre? 

  



 

d) Name two dramas ascribed to Bhāsa except the Svapnavāsavadattam. 

  

5. Discuss the qualities of king Dilīpa as found in Raghuvaṃśa Canto I [10] 

 

Or, 

 Why did king Dilīpa go to the hermitage of Vaśiṣṭha? Describe his journey towards the hermitage  

 

6. Translate into Bengali or English any one of the following verses. [6] 

 

a) 

b) 

7. Explain with reference to the context any one of the following verses : [8] 

 

a) 

b) 

8. Answer any three of the following questions : [2×3 = 6] 

 

a) — Who are meant by ? To whom they were compared? 

  

b) What is the source of the epic ‘Raghuvaṃśam? How many cantos are there in this epic? 

  

c) Name two commentators of Raghuvaṃśam. 

  

d) Who was Vaivasvatamanu?  

  

e) Who was Nandinī? How did she look? 

  

f) What was the curse given by Surabhi to Dilīpa? 

  



 

 

 

9. Name and expound the Samāsa in any five of the following : [2×5 = 10] 

 

a) 

b)   

 c) 

d) 

e) 

f) 

g) 

h) 

10. Give the resulting forms of any six of the following : [1×6 = 6] 

 

a) +

b) +   

 c) +

d) +

e) +

f) +

g) +

h) + +

g) +

h) + +

11. Distinguish between any two of the following : [2×2 = 4] 

 

a) and

b) and   

 c) and

d) and

 

 

         


